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B2 B V) s B P 0

KBRS (ZE—tFENH)
28 P25 il PR &R FI 8 FERE
= (B/E)

B i 1S 6-10 72 - 94 8.1 =
HHEE (mg) 100 <30 <30 =
B E (mg/) 10 <0 - 55 34 =
Wi SR (mel) 2000 | 160 ~ 1,600 754 5
MALPIEEE (mg/) 10 <0.5 <0.5 1=k
S E (mg) 0.1 <0.04 <0.04 =
RO EIRSEE (me/) 100 <15 - 30 22 =2
s (mg/) 20 <10 - 12 10.3 =
s (mg) 0.5 <0.3 <0.3 =
BWEREMAE (mg/) 1 <0.6 <0.6 2
FHEMER (mg/) 15 <7 <7 =
{EEFHE (mg) 2,000 | <100 - 160 120 =
A&k E (mg) 200 <20 - 35 28 =
- (°C) 43 28 - 33 31 =
Bl F V) E (mel) # ; )

2B

B (mg/l) 2 <04 <04 =
# (mg/) 5 <1 <1 =
% (me/l) 0.1 <0.1 <0.1 =
#& (mg/l) 1 <0.3 <0.3 =
#i - (mg/l) 2 <0.5 - 09 0.62 =
$i (mg/l) 2 <1 <1 =
i (mg/l) 5 <02 - 0.21 0.2 =
7K (mg/l) 0.05 <0.05 <0.05 =
# (mg/) 2 <1 <1 =
PR (mg/l) 2 <0.4 <0.4 =
#  (mg/l) 5 <1 <1 =
$¥  (me/) 2 <1 <1 =
BEEEBEEH (mg/) 10 <7.0 - 1.3 7.1 =
B (mg/) 5 <l - 1.0 1.0 A
#  (mg/l) 10 <2 <2 2
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B2
Aldrin (mg/l) 0.01 <0.01 <0.01 =
BHCS (mg/)) 0.01 <0.01 <0.01 =
HAEZBE (mgl) 0.01 <0.01 <0.01 =
BRI EY
T (mgl) 0.1 <0.06 <0.06 =
EHEEILEY -
1,1,1-= & Z ¥t (mg/l) 0.05 <0.025 <0.025 =
EZN
% Gk 7K & (mg/) 0.003 <0.003 <0.003 =
T 5T M A #
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R REREZRBBERS (T —CFEXH)

28 22 I FR “GE R SE 3 H &R E
(HE =)@ ()

() =+4reEaE @
ok (ke/0.5h) 0.58 0.00 - 0.02 0.00 =
“E&ABRR (kg/0.5h) 3.86 0.00 - 2.17 0.16 =
BE % (ke/0.5h) 1.16 0.00 - 0.22 0.04 =
L& (ke/0.5h) 0.08 0.00 0.00 =
HEAEY
(ML = & 18 & &5 &) 7.71 0.69 - 3.28 1.66 e
(kg/0.5h)
“E A5 HETR (ke/0.5h) 0.39 0.00 - 0.04 0.00 =
— E BT (kg/0.5h) 1.93 0.00 - 1.11 0.07 yiss
(z) B ©
R (kg/day) 9.25 0.02 - 0.08 0.04 =
— &1 bH (kg/day) 46.27 2.06 - 15.09 8.05 =
Ba 1% (kg/day) 9.25 1.02 - 2.92 2.04 =
#FIbE (kg/day) 0.93 0.00 0.00 ye3
HEAEY
(ML= & 1L & =t &) 185.06 69.43 — 96.88 80.17 =
(kg/day)
WA HETR (ke/day) 9.25 0.04 - 0.22 0.13 =
— & /E 1% (kg/day) 46.27 0.95 - 6.25 3.65 =
(W)  Hitr

28 72 i IR 45 B £FE R E

BE )@ (B/F)

AKREALEY =
(B8 52 B2 E) (ke/h) 093 0.09% =
B BALEY
(LAt |R & F8it &) 0.73 <0.004 yiss
(kg/h)
% & (DABR % 51 %) (kg/h) 1.45 0.168 &
wrdE 2 (CIBEETE) (ke/h) 0.21 <0.006 =
R FCRARE (kg/h) 0.19 <0.005 =
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EEsBEE—E)Y:

EeeE G —HNEE =

(kg/h) 0.0019 <0.0003 =
EE$BCE_E) ©:

il (kg/h) 0.0023 <0.0001 ye3

FuaeEEGE _HNHEs =

(ke/h) 0.019 <0.0019 TE

7K (kg/h) 0.0019 <0.0001 =

TEEFE (ng/h) 2,891 194 =
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28 P22 | IR &R S8 fFafRE
ZBI/IT)
F—E o
8
e A _ =
% 1 (7K) (TR ) 12.3 - 12.5 12.4 =
30
i} AN 9 _ _ =
FEEeE
#% (ppm) 0.5 <0.5 <0.5 =
7K (ppm) 0.1 <0.02 <0.02 yisa
$E4EE (ppm) 10 <0.5 <0.5 y=3
#i  (ppm) <0.5 - 1.8 0.6
#7 (ppm) <0.5 <0.5
#r  (ppm) <1 -20 1.0
# (ppm) <0.5 - 3.8 0.70
o~ 85~ 3 - Y -
W8 (ppm) 25 <25 -59 2.9 TE
# (ppm) 20 <1 <1 =
WAEY) (ppm) 10 <5 <5 =
A E (ppm) 10 < - 35 2.1 yiss
LY (ppm) 5 <5 <5 =
B8
H D A A
E?’x M F %Y & 5,000 <15 <15 =
= (ppm)
H ERA < _
(ppm) 10 <5 <5 =
HIE K By 42 = -
(ppm) 2 <2 <2 =
% WK (ppm) 1 <1 <1 =
TCDD (ITEF %) -
(ppb) 1 <] <] =




